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Seat

No. [4204]-101

M.A. (Part I) (First Semester) EXAMINATION, 2012

ECONOMICS

EC-101 : Micro-Economic Analysis—I

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(1) ‘‘Basic economic problem is the problem of choice and scarcity.’’

Comment.

(2) What are the properties of Indifference curve ? Explain

the consumer’s equilibrium with the help of Indifference

curve.

2. Answer any one of the following questions in 500 words : [20]

(1) State the assumptions of Revealed Preference Theory of Demand.

Explain how the demand curve is derived from these

assumptions.

(2) State the meaning of internal and external economies. Explain

in detail the internal and external economies of large scale

production.

P.T.O.
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3. Answer any two of the following questions in 250 words

each : [20]

(1) Discuss the merits and demerits of static and dynamic

economics.

(2) State and explain the law of diminishing marginal utility.

(3) Explain the various methods used for measuring the price elasticity

of demand with suitable examples.

(4) Distinguish between economic cost and accounting cost. Which

should be taken into account for calculating the economic profit

of the firm ? Why ?

4. Write any four of the following short notes in 100 word

each : [20]

(1) Consumer’s surplus

(2) Cross elasticity of demand

(3) Average and marginal revenue

(4) Cobb-Douglas production function

(5) Opportunity cost

(6) Armstrong’s Marginal Preference Theory.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh vkf.k eqÌslwn vlkohr-

(iv) vkoð;d rsFks lqcd vkœR;k dk<k-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkr mŸkj f«gk %  [20]

(1) ^^eq«Hkwr vkfFkZd izðu gk fuoM vkf.k nqfeZˇrspk izðu vkgs-** Hkk"; djk-

(2) leo`Ÿkh oÿkps xq.k/keZ dks.krs \ leo`Ÿkh oÿkP;k lkgk∏;kus miHkksDR;kpk lerks«

Li"V djk-
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2. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkr mŸkj f«gk %  [20]

(1) ekx.khP;k izdV ilarh flºkUrkph x`fgrs lkaxk- ;k x`fgrkaP;k vk/kkjs ekx.kh

oÿ dlk r;kj djrkr rs Li"V djk-

(2) varxZr vkf.k ck· ferO;;rkapk vFkZ lkaxk- eksBÓk izek.kkojh« mRiknukP;k

varxZr o ck· ferO;;rk lfoLrj Li"V djk-

3. [kk«h«iSdh dks.kR;kgh nksu izðukaph izR;sdh 250 ðkCnkr mŸkjs f«gk %  [20]

(1) fLFkrhðkh« vkf.k xrhðkh« vFkZðkkL=kP;k xq.knks"kkaph ppkZ djk-

(2) ?kVR;k flekUr mi;ksfxrspk fu;e lkaxk o Li"V djk-

(3) ekx.khph fdaer «ofpdrk ekst.;klkBh okij.;kr ;s.kkÚ;k fofo/k iºrh ;ksX;

mnkgj.kk}kjs Li"V djk-

(4) vkfFkZd [kpZ vkf.k «s[kkarxZr [kpZ ;kr Hksn djk- m|ksxlaLFkspk vkfFkZd [kpZ

ekstrkuk dks.krk [kpZ fopkjkr ?ksrkr \ dk \

4. [kk«h«iSdh dks.kR;kgh pkj Vhik izR;sdh 100 ðkCnkr f«gk %  [20]

(1) miHkksDR;kps larks"kkf/kD;

(2) ekx.khph Nsnd «ofpdrk

(3) ljkljh vkf.k lhekUr izkIrh

(4) dkWc&MX«l mRiknu Q«u

(5) la/khR;kx [kpZ

(6) vkeZLV™k°xpk lhekUr izk/kkU; flºkUr-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4204]-102

M.A. (Part I) (First Semester) EXAMINATION, 2012

ECONOMICS

EC-102 : Public Finance

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer the following questions in 500 words (any one) : [20]

(i) Discuss the role of Government in organised society and mixed

economy.

(ii) Critically examine Bowen and Lindhal Models of benefit approach

to taxation.

2. Answer the following questions in 500 words (any one) : [20]

(i) Explain in detail the principle of Social Cost-Benefit Analysis.

(ii) State and explain the meaning and types of ‘Taxable Capacity’.

What are the determinants of Taxable Capacity ?
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3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain the distinction between impact and incidence of Tax.

(ii) Explain the ‘Ability to pay principle of taxation’.

(iii) Explain the ‘Wiseman-Peacock Hypothesis’ of the growth of public

expenditure.

(iv) Explain the concept of Private Goods, Public Goods and Merits

Goods.

4. Write short notes on (any four) : [20]

(i) Administrative efficiency of taxation

(ii) Wagner’s Law of public expenditure

(iii) Principles of taxation in developing countries

(iv) Public Debt Management

(v) Fiscal functions of the government

(vi) Shifting of Tax Incidence.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) feJ vFkZO;oLFkk vkf.k la?kVhr lekt O;oLFksrh« ðkklukP;k Hkqfedsckcr ppkZ

djk-
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(ii) cksosu o f«a<k«P;k dj vkdkj.khpk «kHk n`f"Vdksu izfrekukps fVdkRed ifj{k.k

djk-

2- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) ^lkekftd [kpZ&«kHk* foð«s"k.kkps rRo lfoLrji.ks Li"V djk-

(ii) djns; {kerspk vFkZ vkf.k R;kps izdkj lkaxk o Li"V djk- djns; {kersps

fu/kkZjd dks.krs \

3- [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk % [20]

(i) djk?kkr o djHkkj ;karh« Qjd Li"V djk-

(ii) dj vkdkj.khP;k djns; ik=rk rRokps Li"Vhdj.k djk-

(iii) okbZteu&fidkWd ;kaP;k lkoZtfud [kpZ o`ºhP;k x`ghr dYiuk Li"V djk-

(iv) [kktxh oLrw] lkoZtfud oLrw vkf.k xq.kk/kkjhr oLrw ;k ladYiuk Li"V djk-

4- FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) djkjksi.kkph izðkkldh; dk;Z{kerk

(ii) lkoZtfud [kpkZpk oWXujpk fu;e

(iii) fodluðkh« vFkZO;oLFksrh« djkjksi.kkph rRos

(iv) lkoZtfud dtZ O;oLFkkiu

(v) ðkklukph jktdks"kh; dk;sZ

(vi) djHkkjkps laÿe.k-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4204]-103

M.A. (Part I) (First Semester) EXAMINATION, 2012

ECONOMICS

EC-103 : Agricultural Economics

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer the following questions in 500 words each (any one) : [20]

(1) What is Agricultural Productivity ? Explain the causes of Low

Agricultural productivity in India and suggest the measures

to improve it.

(2) What are the problems of Co-operative credit system ? Explain

the recommendations of Vaidynathan Committee about

Co-operative credit system.

2. Answer the following questions in 500 words each (any one) : [20]

(1) What is Green Revolution ? Explain the recent trends in Green

Revolution in India.

(2) What is Agricultural Management ? State and explain the recent

trends in the agricultural management.

3. Answer the following questions in 250 words each (any two) :

[20]

(1) ‘‘Farming as a business or a way of life.’’ Comment.

P.T.O.
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(2) Describe the problems of Agricultural Marketing in India.

(3) State and explain the development of Hybrid seeds.

(4) Describe the Food security situation in India.

4. Write short notes on (any four) : [20]

(1) Importance of organic farming

(2) Scope of Biotechnology in Agriculture

(3) Place of Agriculture in economy of Maharashtra

(4) Agriculture price policy in India since 1991

(5) Global marketing

(6) Importance of Livestock.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 500 ðkCnkr f«gk (dks.krkgh ,d) %  [20]

(1) ðksrhph mRikndrk Eg.kts dk; \ Hkkjrh; ðksrhph mRikndrk deh vl.;kph

dkj.ks Li"V d:u mRikndrk ok<fo.;kps mik; lkaxk-

(2) lgdkjh foŸkiqjoBÓkP;k iz.kk«hrh« leL;k dks.kR;k \ lgdkjh foŸkiqjoBÓkckcr

oS|ukFku lferhP;k fðkQkjlh Li"V djk-

2. [kk«h« izðukaph mŸkjs izR;sdh 500 ðkCnkr f«gk (dks.krkgh ,d) %  [20]

(1) ^gfjrÿkarh* Eg.kts dk; \ Hkkjrkrh« gfjrÿkarhrh« vf«dMh« dkˇkrh« izo`Ÿkh

Li"V djk-

(2) œf"k O;oLFkkiu Eg.kts dk; \ œ"kh O;oLFkkiukrh« vf«dMh« dkˇkrh«

izo`Ÿkh lkaxk o Li"V djk-
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3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkr f«gk (dks.krsgh nksu) %  [20]

(1) ^ðksrh ,d O;olk; fd ftouiºrh-* Hkk"; djk-

(2) Hkkjrkrh« ðksrek« foÿhO;oLFksrh« leL;k Li"V djk-

(3) ladjhr fc&fc;kukapk fodkl lkaxk o Li"V djk-

(4) Hkkjrkrh« vUulqjf{krrsph ifjfLFkrh foðkn djk-

4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) lsaÊh; ðksrhps egRo

(2) ðksrhrh« tSfod ra=Kkukph O;kIrh

(3) egkjk"V™kP;k vFkZO;oLFksrh« ðksrhps LFkku

(4) 1991 iklwu Hkkjrkrh« ðksrek« fdaer /kksj.k

(5) tkxfrd foi.ku

(6) iðkw/kukps egRo-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4204]-104

M.A. (Part I) (First Semester) EXAMINATION, 2012

ECONOMICS

EC-104 : Indian Economic Policy

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1. Answer the following questions in 500 words each (any one) : [20]

(i) Explain in detail Demographic features of India.

(ii) What is Globalization ? Assess the merits and demerits of

globalization in the context of Indian economy.

2. Answer the following questions in 500 words each (any one) : [20]

(i) Explain in detail the sources of Agricultural Credit.

(ii) Explain the favourable and unfavourable effects of new economic

policy on small scale industry.

P.T.O.
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3. Answer the following questions in 250 words each (any two) : [20]

(i) Critically evaluate the employment generation policy of Govt.

of India.

(ii) What are the problems of the Public Sector in India ?

(iii) Explain the features of Indian Agricultural Marketing

system.

(iv) What are the problems of education in India ?

4. Write short notes on (any four) : [20]

(i) Indian Money Market

(ii) Benefits of Non-conventional sources of Energy

(iii) Approaches of Employment Generation

(iv) Problems of Privatization

(v) Indian Population Policy-2000

(vi) Recent objectives of Monetary Policy of RBI.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mRrjs usedh o eqÌslwn vlkoh-

(iv) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukps mRrj 500 ðkCnkr f«gk % [20]

(i) HkkjrkP;k «ksdla[;sph oSfðk"VÓs lfoLrj Li"V djk-

(ii) tkxfrdhdj.k Eg.kts dk; \ tkxfrdhdj.kkP;k xq.k vkf.k nks"kkaps Hkkjrh;

vFkZO;oLFksP;k lanHkkZr eqY;ekiu djk-
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2. [kk«h«iSdh dks.kR;kgh ,dk izðukps mRrj 500 ðkCnkr f«gk % [20]

(i) œ"kh iriqjoBÓkP;k lzksrkaps lfoLrj Li"Vhdj.k djk-

(ii) «?kqmnÓksxkaojh« ufou vkfFkZd /kksj.kkps vuqdw« vkf.k izfrdw« ifj.kke Li"V

djk-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [20]

(i) Hkkjr ljdkjkps jkstxkj fufeZrhfo"k;d /kksj.kkps VhdkRed ifj{k.k djk-

(ii) Hkkjrkrh« lkoZtfud {ks=krh« leL;k dks.kR;k \

(iii) Hkkjrh; ðksrek« foÿh O;oLFksph oSfðk"VÓs Li"V djk-

(iv) Hkkjrkrh« fðk{k.kkP;k leL;k dks.kR;k \

4. FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) Hkkjrh; uk.kscktkj

(ii) vikjaikfjd mtkZ lzksrkaps Qk;ns

(iii) jkstxkj fufeZrh n`"Vhdksu

(iv) [kktxhdj.kkP;k leL;k

(v) Hkkjrh; «ksdla[;k /kksj.k&2000

(vi) Hkkjrh; fj>oZ c°dsph vf«dMP;k dkˇkrh« p«ufo"k;d /kksj.kkph mfÌ"VÓs-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4204]-105

M.A. (Part I) (First Semester) EXAMINATION, 2012

ECONOMICS

EC-105 : Labour Economics

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precie and to the point.

1. Answer the following questions in 500 words (any one) : [20]

(i) Discuss the nature and characteristics of Labour Market in

developing countries like India.

(ii) Critically examine the Marginal Productivity theory of

Wage.

2. Answer the following questions in 500 words (any one) : [20]

(i) Explain the term ‘Labour Turnover’. What are the causes of

low labour turnover in India ?

(ii) Explain the concept of ‘Minimum Wage’ and ‘Fair Wage’.

P.T.O.
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3. Answer the following questions in 250 words each (any two) : [20]

(i) What are the causes of industrial disputes ?

(ii) Discuss the causes of absenteeism of labour in India.

(iii) Explain the effects of Migration of Labour.

(iv) Explain the need of Safety Nets.

4. Write short notes on (any four) : [20]

(i) Collective Bargaining

(ii) Structure of Labour Unions in India

(iii) Peculiarities of Labour

(iv) Exit Policy

(v) Wage determination in unorganised sector

(vi) Recommendation of Second National Commission on Labour.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mRrjs usedh o eqÌslwn vlkohr-

(iv) lanHkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph 500 ðkCnkar mRrjs f«gk (dks.krkgh ,d) % [20]

(i) Hkkjrklkj[;k fodluðkh« nsðkkrh« Jecktkjkps Lo:i vkf.k oSfðk"VÓkaph ppkZ

djk-

(ii) osrukP;k flekar mRikndrk flºkarkps fVdkRed ifj{k.k djk-
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2. [kk«h« izðukaph 500 ðkCnkar mRrjs f«gk (dks.krkgh ,d) % [20]

(i) ^^Jfed m«k<kˇ* ladYiuk Li"V djk- Hkkjrkrh« Jfed m«k<kˇ deh jkg.;kph

dkj.ks dks.krh \

(ii) ^fdeku osru* o ^;ksX; osru* ;k ladYiuk Li"V djk-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mRrjs f«gk (dks.krsgh nksu) % [20]

(i) vkS|ksfxd d«gkph dkj.ks dks.krh vkgsr \

(ii) Hkkjrkrh« JfedkaP;k xSjgtsjhP;k dkj.kkph ppkZ djk-

(iii) JfedkaP;k LFk«karjkps ifj.kke Li"V djk-

(iv) lqjf{kr tǩ s (Safety nets) ph xjt Li"V djk-

4. FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) lkeqnkf;d lkSnkðkDrh

(ii) Hkkjrkrh« Je la?kVukaph jpuk

(iii) Jekph oSfðk"VÓs

(iv) fuxZeu /kksj.k

(v) vla?kfVr {ks=krh« osru fufðprh

(vi) nqlÚ;k jk"V™h; Je vk;ksxkP;k fðkQkjlh-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4204]-106

M.A. (Part I) (First Semester) EXAMINATION, 2012

ECONOMICS

EC-106 : Cooperation : Theory and Practice

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) Explain in detail the broad features of Maharashtra State

Cooperative Societies Act, 1960.

(2) Discuss the basic principles of Cooperation.

2. Answer any one of the following questions in 500 words : [20]

(1) Evaluate the cooperative audit system in India. State its

weaknesses.

(2) Give a brief account of progress of Urban Cooperative Banks

in Maharashtra. What are their weaknesses ? Suggest the measures

to eliminate it.

P.T.O.
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3. Answer in 250 words each (any two) : [20]

(1) Explain the problems of District Central Cooperative Banks.

(2) Explain the need and objectives of cooperative training.

(3) State the problems of cooperative movement in Great Britain.

(4) Explain the contribution of Regional Rural Banks in rural

credit.

4. Write short notes on (any four) : [20]

(1) Impact of Cooperative Societies Act, 1904 on cooperative movement

in India

(2) Problems of cooperative training in India

(3) Primary Agricultural Cooperative Credit Societies

(4) Functions of Cooperative Auditor

(5) Weaknesses of Cooperative Movement in India

(6) International Cooperative Alliance.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mRrjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krkgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) egkjk"V™ lgdkjh laLFkk dk;nk 1960ph Bˇd oSfðk"VÓs lfoLrj Li"V

djk-

(2) lgdkjkP;k eq«rRokaph ppkZ djk-
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2. [kk«h«iSdh dks.krkgh ,dk izðukps mRrj 500 ðkCnkar f«gk % [20]

(1) Hkkjrkrh« «s[kk ifj{k.k O;oLFksps ifj{k.k djk- frP;k m.khok lkaxk-
(2) egkjk"V™krh« ukxjh lgdkjh c°dkP;k izxrhpk FkksMD;kr vk<kok ?;k- R;kP;k

m.khok dks.kR;k vkgsr \ R;k deh dj.;klkBh mik; lqpok-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mRrjs f«gk (dks.krkgh nksu) % [20]

(1) ftYgk e/;orhZ lgdkjh c°dkP;k leL;k Li"V djk-

(2) lgdkjh izfðk{k.kkph xjt o mfÌ"VÓs Li"V djk-

(3) xzsV fczVue/kh« lgdkjh pˇoˇhP;k leL;k lkaxk-

(4) xzkeh.k iriqjoBÓkrh« izknsfðkd xzkeh.k c°dkph Hkwfedk Li"V djk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) 1904 P;k lgdkjh laLFkk dk;nÓkpk Hkkjrkrh« lgdkjh pˇoˇhojh«
izHkko

(2) Hkkjrkrh« lgdkj izfðk{k.kkrh« leL;k

(3) izkFkfed œ"kh lgdkjh irlaLFkk

(4) lgdkjh «s[kk ifj{kdkph dk;sZ

(5) Hkkjrkrh« lgdkjh pˇoˇhrh« m.khok

(6) vkarjjk"V™h; lgdkjh la?kVu-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4204]-107

M.A. (Part I) (First Semester) EXAMINATION, 2012

ECONOMICS

(EC–107 : Mathematical Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Use of non-programmable calculator is allowed.

1. Attempt any one, out of two of the following : [20]

(1) Verify that the inverse of :

1 2 0 5 4 6

5 4 3 is 2 2 3

4 1 2 11 9 14

−   
   
   − − −   
   
   − −   

and hence solve the equations

x + 2y = 12

–5x + 4y + 3z = 13

–4x + y + 2z = –1
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(2) A discriminating monopolist has two distinct markets described

by :

x1 = 16 – 0.2p1

p2 = 180 – 20x2

If the total cost function is c = 20x + 20, where x = x1 + x2.

Find the prices, the monopolist will charge in eah market while

maximising his profits. Find the profits with and without price

discrimination.

(Note : MC = MR1 = MR2)

2. Attempt any one out of two of the following : [20]

(1) The demand and supply laws for a commodity are

Pd = 56 – x2 and Ps = 2x – 3. Find the consumer surplus

and production surplus at equilibrium price. Also write a detailed

note on the concept of consumer surplus. What data would

you require to determine this when there is :

(i) Pure competition

(ii) Monopoly.

(2) Find the minimum average cost for :

(i) AC = 10 – 4x3 + 3x4
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(ii) AC = 6x + 7 + 
36

x

(iii) AC = 2ex + e–x

and find out the output for maximise revenue, given the demand

functions :

(i) P 12 x= −

(ii) P = (x – 8)2.

3. Attmept any two out of four of the following : [20]

(1) The sums of ‘n’ terms of two arithmetic progressions are in

the ratio 7n + 1 : 4n + 27. Find the ratio of their nth terms.

(2) Find the unknown quantities in the following equations :

3 4 12 4

2 3 11 3 6

3 2 5 7 4

x x

y z z

w y w

+   
   
   + = −   
   
   − +   

(3) At the point (2, –2) on the curve x2 + xy + y2 = y. Find

the slopes of the tangent and the normal curve.

(4) The linear demand function for goods shows that quantity demanded

is nil when price is Rs. 50 and it is 1000 units, when price

is zero. Indicate the point on the demand curve where elasticity

of demand is unity.
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4. Attempt any four out of six of the following : [20]

(1) If :

1 1 1 0 1

A , B , C

2 0 1 3 3

b

a

     
     = = =
     
     

Find the values of a, b for which A + B = BC.

(2) Solve :

2x – y = 1

7x – 2y = –7

(3) Evaluate :

11 7 1

D 15 8 1

7 2 6

− 
 
 = − − 
 
 − 

(4) If A earns 
1

33 %
3

 more than B, then how much percent is

B earns less than A ?

(5) Divide 1162 rupees among A, B and C in the ratio

35 : 28 : 20.

(6) A vendor bought lemons at 6 for a rupee. How many for

a rupee must he sell to gain 20% ?



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4204]-108

M.A. (Part I) (First Semester) EXAMINATION, 2012

ECONOMICS

Paper EC-108 : Demography

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) What is demography ? Explain its nature, scope and importance.

(2) Explain fully the demographic transition theory of population.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain in detail the different measures of fertility rate of

population.

(2) Elaborate the relationship between growth of population and

economic development.

3. Answer the following questions in 250 words each (any two) : [20]

(1) Evaluate the Malthusian theory of Population.
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(2) Analyse Family Planning Programmes since 1991.

(3) Describe the factors affecting quality of population.

(4) Discuss the nature of population explosion.

4. Write short notes on any four of the following in 100 words each : [20]

(1) Human development index

(2) Infant mortality rate

(3) Population Policy of India since 2000

(4) Nature of change in the age structure of population in developing

countries.

(5) Optimum population

(6) Age pyramids of population.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vfuok;Z vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-

1- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) «ksdla[;kðkkL= Eg.kts dk; \ R;kps Lo:i] O;kIrh o egRo Li"V djk-

(2) «ksdla[;k laÿeukpk flºkar lfoLrj Li"V djk-
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2- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) «ksdla[;k tuu{ke&njkP;k fofo/k ekids lfoLrj Li"Vhdj.k djk-

(2) «ksdla[;k o`ºh vkf.k vkfFkZd fodkl ;ke/kh« laca/kkph lfoLrj ppkZ djk-

3- [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk % [20]

(1) ekYFklP;k «ksdla[;k flºkarkps eqY;ekiu djk-

(2) 1991 uarjP;k dkˇkrh« HkkjrkP;k dqVwac fu;kstu dk;Zÿekps foð«s"k.k djk-

(3) «ksdla[;k xq.koRrsoj ifj.kke dj.kkÚ;k ?kVdkaps o.kZu djk-

(4) «ksdla[;k foLQksVkP;k Lo:ikph ppkZ djk-

4- [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh 100 ðkCnkar fVik f«gk % [20]

(1) ekuoh fodkl funsZðkkad

(2) ck« e`R;wnj

(3) Hkkjrkps 2000 iklwups «ksdla[;k /kksj.k

(4) fodluðkh« nsðkkrh« «ksdla[;sps o;kseku jpusps Lo:i

(5) i;kZIr «ksdla[;k

(6) «ksdla[;sph o;ksxV mrjaM jpuk-
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4204]-201

M.A. (Part I) (Second Semester) EXAMINATION, 2012

ECONOMICS

(EC-201 : Micro-economic Analysis—II)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw the diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(1) What is perfect competition ? Explain the equilibrium of

the firm and industry under perfect competition in the

long-run.

(2) Critically examine the modern theory of rent.

2. Answer any one of the following questions in 500 words : [20]

(1) Critically examine the marginal productivity theory of

distribution.

(2) Explain the process of price and output determination under

monopolistic competition in the long-run.

3. Answer the following questions in 250 words each (any two) : [20]

(1) Explain price rigidity in Oligopoly with the help of kinked demand

curve.
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(2) Explain the equilibrium under discriminating monopoly.

(3) Explain the modern theory of interest.

(4) Explain Pareto optimality condition.

4. Write short notes on (any four) : [20]

(1) Selling cost

(2) The Prisoner’s dilemma under Game theory

(3) Risk and uncertainty theory of profit

(4) Oligopoly price and output determination

(5) Regulation of monopoly through taxation

(6) Fixation of minimum wage level.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) vkoð;d rsFks vkœR;k dk<kO;kr-

1- [kk«h«iSdh dks.krkgh ,d izðu 500 ðkCnkar lksMok % [20]

(1) iw.kZ Li/kkZ Eg.kts dk; \ nh?kZdkˇkrh« iw.kZ Li/ksZr mRiknu laLFkk vkf.k

m|ksx/ka/kkpk lerks« Li"V djk-

(2) [kaMkP;k vk/kqfud flºkarkps VhdkRed ijh{k.k djk-
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2- [kk«h«iSdh dks.krkgh ,d izðu 500 ðkCnkar lksMok % [20]

(1) foHkktukP;k vk/kqfud flºkarkps VhdkRed ijh{k.k djk-

(2) nh?kZdkˇkr eDrsnkjh;qDr Li/ksZrh« fdaer vkf.k mRiknu Bjfo.;kph izfÿ;k

Li"V djk-

3- [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(1) vYifoÿsrkf/kdkjkrh« fdaer rkBjrk ckdnkj ekx.kh oÿkP;k lkgk∏;kus

Li"V djk-

(2) foHksnh eDrsnkjhrh« lerks« Li"V djk-

(3) O;ktkpk vk/kqfud flºkar Li"V djk-

(4) iWjsVks&i;kZIrrsP;k vVh Li"V djk-

4- Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) foÿh [kpZ

(2) [ksˇ flºkarkrh« dS|kph nqfo/kk

(3) u∂;kpk /kksdk vkf.k vfufðprrspk flºkar

(4) vYifoÿsrkf/kdkjkrh« fdaer vkf.k mRiknu fufðprh

(5) eDrsnkjhps djk}kjs fu;a=.k

(6) fdeku osru ikrˇh fufðprh-
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4204]-202

M.A. (Part I) (Second Semester) EXAMINATION, 2012

ECONOMICS

EC-202 : Indian Public Finance

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer the following in 500 words (any one) : [20]

(1) Explain the meaning and the concept of Budget. What are

its components of Union budget ?

(2) State the meaning of deficit financing. Explain the effects of

deficit financing on Indian Economy.

2. Answer the following in 500 words (any one) : [20]

(1) Explain the trends in Revenue of Central Government

since 1991.

(2) Evaluate reforms in direct taxation in India.

3. Answer in 250 words each (any two) : [20]

(1) Critically examine Public Debt Policy since 1991.
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(2) Explain the causes of Fiscal imbalance between States and

Central Government.

(3) Explain the concept of Balanced budget multiplier.

(4) Explain the objectives of deficit financing in a developing

economy.

4. Write short notes on (any four) : [20]

(1) Principles of Federal Finance

(2) Objectives of Monetary Policy

(3) Automatic Stabilizers

(4) Economic Classification of Budget

(5) Fiscal Deficit

(6) Process of preparation of Budget.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h« izðukaph 500 ðkCnkar mŸkjs f«gk (dks.krkgh ,d) % [20]

(1) vFkZladYi ladYiuspk vFkZ Li"V djk- dsafÊ; vFkZladYikps ?kVd dks.krs

vkgsr \

(2) rqVhP;k vFkZHkj.;kpk vFkZ lkaxk- Hkkjrh; vFkZO;oLFksrh« rqVhP;k vFkZHkj.;kps

ifj.kke Li"V djk-
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2- [kk«h« izðukaph 500 ðkCnkar mŸkjs f«gk (dks.krkgh ,d) % [20]

(1) dsaÊ ljdkjP;k eglq«krh« 1991 iklwuph izo`Ÿkh Li"V djk-

(2) Hkkjrkrh« izR;{k djO;oLFksrh« lq/kkj.kkaps eqY;ekiu djk-

3- [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) 1991 iklwuP;k lkoZtfud dtZ /kksj.kkps fVdkRed ifj{k.k djk-

(2) Hkkjrkrh« dsaÊ o jkT; ljdkjkae/kh« jktdks"kh; vlerks«kph dkj.ks Li"V

djk-

(3) lerks« vFkZladYi xq.kd ladYiuk Li"V djk-

(4) fodluðkh« vFkZO;oLFksrh« rqVhP;k vFkZHkj.;kph mfÌ"VÓs Li"V djk-

4- FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) laf?k; foŸkkph rRos

(2) p«ufo"k;d /kksj.kkph mfÌ"VÓs

(3) Lo;ap«hr fLFkjds

(4) vFkZladYikps vkfFkZd ofxZdj.k

(5) jktdks"kh; rqV

(6) vFkZladYi r;kj dj.;kph izfÿ;k-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4204]-203

M.A. (Part I) (Second Semester) EXAMINATION, 2012

ECONOMICS

EC-203 : Indian Agriculture Problems and Policies

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(i) Explain in detail “Indian Agricultural Labour Policy’

since 1991.

(ii) Can ‘SEZ’ increase the employment opportunities and export

ability ? Comment.

P.T.O.
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2. Answer any one of the following questions in 500 words : [20]

(i) Discuss the impact of mechanization on Agricultural Labour.

(ii) Explain in detail Agricultural ‘EXIM Policy’ of 2004-09.

3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain the recent provisions of Government of India regarding

ceiling on Land Holding.

(ii) Critically evaluate the impact of ‘WTO’ on Agriculture.

(iii) Explain in detail irrigation problems in Maharashtra.

(iv) State the recent changes in export policy of vegetables and

fruits.

4. Write short notes on (any four) : [20]

(i) Export policy of spices.

(ii) The problems of Indian Agricultural Labour.

(iii) Objectives of Employment Guarantee Scheme.

(iv) Agricultural Subsidies in India.

(v) Problems of Agriculture Export after 1991.

(vi) Efficiency of service sector and performance of Agriculture.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslqn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krkgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) lu 1991 iklwups Hkkjrh; ðksretwjfo"k;d /kksj.kkps lfoLrji.ks foð«s"k.k

djk-

(ii) ^foðks"k vkfFkZd {ks=* gs jkstxkj la/kh vkf.k fu;kZr {kerk ok<ow ðkdrs \

;koj Hkk"; djk-

2. [kk«h«iSdh dks.krkgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) ;kaf=dhdj.kkps ðksretwjkojkaoj >k«s«k ifj.kkaekph ppkZ djk-

(ii) lu~ 2004&09 ps ðksrhfo"k;d vk;kr&fu;kZr /kksj.k foLr`ri.ks Li"V djk-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(i) Hkkjr ljdkjP;k v«hdMh« dkˇkrh« Hkw/kkj.ksojh« dek« e;kZns lanHkkZrh«

rjrwnh Li"V djk-
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(ii) Hkkjrh; ðksrhojh« tkxfrd O;kikj la?kVusP;k ifj.kkekps VhdkRed ifj{k.k djk-

(iii) egkjk"V™krh« t«flapufo"k;d leL;k foLr`ri.ks Li"V djk-

(iv) ^Hkkthik«k o Q š* ;k lanHkkZrh« fu;kZrfo"k;d /kksj.kkrh« vf«dMh« cn«

lkaxk-

4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) elk«sfo"k;d fu;kZr /kksj.k

(ii) Hkkjrkrh« ðksretwjkaP;k leL;k

(iii) jkstxkj geh ;kstusph mfn"VÓs

(iv) Hkkjrkrh« œf"kfo"k;d vuqnkus

(v) lu~ 1991 uarjP;k ðksrekˇ fu;kZrfo"k;d leL;k

(vi) lsok {ks=kph dk;Z{kerk o ðksrhph dkefxjh-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4204]-204

M.A. (Part I) (Second Semester) EXAMINATION, 2012

ECONOMICS

EC-204 : (Industrial Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions (in 500 words) : [20]

(i) Critically evaluate the Sargent Florence theory of Industrial

Location.

(ii) State and explain the role of private sector in Industrial

Development of India. What are its problems ?

P.T.O.
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2. Answer any one of the following questions (in 500 words) : [20]

(i) Evaluate the performance of small scale and cottage industries

in India. What are their problems ?

(ii) What is Industrial Finance ? Explain the role of foreign capital

in India since 1991.

3. Answer the following questions in 250 words each (any two) : [20]

(i) Evaluate the role of MNCs in India.

(ii) State the factors affecting industrial productivity.

(iii) Explain nature of imbalanced regional development of industries

in India.

(iv) Explain the significance of the study of Industrial Economics.

4. Write short notes on (any four) : [20]

(i) Growth in direct foreign investment in India

(ii) Industrial Policy—1956

(iii) Effects of Industrial Monopoly

(iv) External Commercial Borrowings

(v) Progress of co-operative sector in India

(vi) Progress of Disinvestment Policy.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) vkS|ksfxd LFkkfu;hdj.kkP;k lkt±V ∂«ksjsUl ;kaP;k flºkarkps VhdkRed ewY;ekiu

djk-

(ii) HkkjrkP;k vkS|ksfxd fodklkrh« [kktxh {ks=kph Hkqfedk lkaxk o Li"V djk-

R;kP;k leL;k dks.kR;k vkgsr \

2. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) Hkkjrkrh« «?kq dqVhj m|ksxkP;k dkexhjhps eqY;ekiu djk- R;kaP;k leL;k dk;

vkgsr-

(ii) vkS|ksfxd fo«iqjoBk Eg.kts dk; \ 1991 iklwu Hkkjrkrh« ijdh; HkkaMo«kph

Hkqfedk Li"V djk-

3. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk % [20]

(i) Hkkjrkrh« cgqjk"V™h; daiU;kaP;k Hkqfedsps eqY;ekiu djk-
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(ii) vkS|ksfxd mRikndrsoj ifj.kke dj.kkjs ?kVd lkaxk-

(iii) Hkkjrkrh« m|ksxkaP;k izknsfðkd vlarqf«r fodklkps Lo:i Li"V djk-

(iv) vkS|ksfxd vFkZðkkL=kP;k vH;klkps egRo Li"V djk-

4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) Hkkjrkrh« FksV ijdh; xqaro.kqdhrh« o`ºh

(ii) 1956ps vkS|ksfxd /kksj.k

(iii) vkS|ksfxd eDrsnkjhps ifj.kke

(iv) ijdh; O;kikjh dtZ mHkkj.kh

(v) Hkkjrkrh« lgdkjh {ks=kph izxrh

(vi) fuxq±ro.kqd /kksj.kkph izxrh-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4204]-205

M.A. (Part I) (Second Semester) EXAMINATION, 2012

ECONOMICS

Paper 205 : Rural Development

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any one of the following questions in 500 words : [20]

(1) Explain in detail V.M. Dandekar’s approach of rural

development.

(2) Discuss the relation between rural electrification and rural

development. State the problems of rural electrification in

Maharashtra.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain the nature and causes of rural poverty in India. State

measures to alleviate it.

(2) Evaluate the National Rural Employment Guarantee Programme

in India.

P.T.O.
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3. Answer in 250 words each (any two) : [20]

(1) Explain the objectives and progress of tribal development

programme.

(2) Explain the scope of rural development.

(3) Discuss the role of irrigation in rural development.

(4) Explain the problems of rural industrialisation in India.

4. Write short notes on (any four) : [20]

(1) Small Farmers Development Agency (S.F.D.A.)

(2) Swarn Jayanti Gram Swarozgar Yojana

(3) Self help groups and micro-finance

(4) Problems of rural transport

(5) Concept of rural development

(6) TRYSEM (Training Rural Youth for Self-Employment).

(ejkBh :ikarj)

osˇ % 3 rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslqn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-
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1. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) Ogh- ,e- nkaMsdj ;kapk xzkeh.k fodklkpk n`"Vhdks.k lfoLrj Li"V djk-

(2) xzkeh.k fo|qrhdj.k o xzkeh.k fodklkrh« laca/kkph ppkZ djk- egkjk"V™krh«

xzkeh.k fo|qrhdj.kkP;k leL;k lkaxk-

2. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) Hkkjrkrh« xzkeh.k nkfjÊÓkps Lo:i o dkj.ks Li"V djk- R;kP;k fueqZˇuklkBh

mik; lkaxk-

(2) Hkkjrkrh« jk"V™h; xzkeh.k jkstxkj geh dk;Zÿekps eqY;ekiu djk-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(1) vknhoklh fodkl dk;Zÿekph mfÌ"VÓs vkf.k izxrh Li"V djk-

(2) xzkeh.k fodklkph O;kIrh Li"V djk-

(3) xzkeh.k fodklkrh« t«flapkukP;k Hkwfedsph ppkZ djk-

(4) Hkkjrkrh« xzkeh.k vkSn~;ksxhdj.kkP;k leL;k Li"V djk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) «gku ðksrdjh fodkl laLFkk (SFDA)

(2) Lo.kZt;arh xzke Lojkstxkj ;kstuk

(3) Lo;algk;rk xV o lq{e&foŸk

(4) xzkeh.k okgrqdhP;k leL;k

(5) xzkeh.k fodklkph ladYiuk

(6) V™k;lse (TRYSEM).



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—2

Seat

No. [4204]-206

M.A. (Part I) (Second Semester) EXAMINATION, 2012

ECONOMICS

(EC-206 : Computer Application in Economic Analysis)

(2008 PATTERN)

Time : 2½ Hours Maximum Marks : 60

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Attempt any one of the following : [1×15=15]

(1) What is Network ? Explain different types of network topology.

(2) What is digital signature ? How is digital signature

generated ? Explain how it is applied to transaction security.

2. Attempt any one of the following (A or B) : [1×15=15]

(A) (1) “Online shopping can save time and money.” Are you

agree with the statement ? Give example to support your

answer. [8]

(2) What is spreadsheet ? Explain with suitable example the

steps for sorting a data in ascending order. [7]
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Or

(B) (1) What are the benefits of electronic stock exchange ? [8]

(2) What are the advantages and disadvantages of B2C over

conventional selling ? [7]

3. Attempt any three of the following : [3×5=15]

(1) What are the advantages of electronic trading ?

(2) Explain with suitable example the following MS-Excel function :

(a) sum

(b) if.

(3) What is electronic transaction ? How is it validated ?

(4) Explain any two data storage devices.

(5) What is Internet ? What are its principal functions ?

4. Attempt any three of the following : [3×5=15]

(1) List the applications of computer in various fields.

(2) What is software ? Explain types of software.

(3) Explain the services provided by operating system.

(4) What is MS-Chart ? Explain the steps for creating a column

chart.

(5) What is electronic marketing ? List the advantages of electronic

marketing.



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4204]-207

M.A. (Part I) (Second Semester) EXAMINATION, 2012

ECONOMICS

(EC-207 : Statistical Techniques)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Use of non-programmable calculator is allowed.

1. Attempt any one out of two of the following : [20]

(1) For the following data showing index numbers of prices and

productions for 5 years, find two regression lines and show

that bb′ = r2.

Index no.s of

Year Production Prices

1961 100 107

1962 101 123

1963 106 133

1964 99 109

1965 97 128
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(2) Calculate the mean, median and s.d. for the following data

and find its skewness.

Class Interval Frequency

50—60 4

60—70 16

70—80 36

80—90 52

90—100 64

100—110 40

110—120 32

120—130 11

2. Attempt any one of the following : [20]

(1) A factory claims to produce a lower average number of defectives

compared to the prevalent average of 30.5. A random sample

of 100 defective articles from this factory showed the following

distribution :

Class limits Frequency

16—20 12

21—25 22

26—30 20

31—35 30

36—40 16

Is the claim sustained at 5% level of significance ?

(2) The annual trend equations for consumption of butter (in ’000

kgs) for three districts I, II and III respectively are given

below. Comment on the pattern of change of consumption over

time for each district.

(I) Yt = 200 – 0.012t

(II) Yt = 225 (1.015)t

(III) Yt = 250 (0.978)t.
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3. Attempt any two of the following : [20]

(1) The average test marks in a particular class is 79. The standard

deviation is 5. If the marks are distributed normally, how many

students in a class of 200 did not receive marks between 72

and 82 ? Given :

Pr{0 ≤ Z ≤ 0.7} = 0.2580

Pr{0 ≤ Z ≤ 0.8} = 0.2881

Pr{0 ≤ Z ≤ 0.6} = 0.2257

where Z is a standard normal variable.

(2) The first three moments of a distribution about the value

67 of the variable are 0.45, 8.73 and 8.91. Calculate the second

and third central moments, and the moment coefficient of

skewness. Indicate the nature of distribution.

(3) The following figures show the distribution of digits in numbers

chosen at random from a telephone directory :

Digit Frequency

0 1026

1 1107

2 997

3 966

4 1075

5 933

6 1107

7 972

8 964

9 853

Total 10000

Test whether the digits may be taken to occur equally frequently

in the directory. (The table value of χ2 for 9 d.f. at 5% level

of significance is 16.92).
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(4) The following data gives the number of seeds germinating out

of 10 on damp filter for 80 sets of seeds. Fit a binomial

distribution to this data :

X F

0 6

1 20

2 28

3 12

4 8

5 6

6 0

7 0

8 0

9 0

10 0

4. Attempt any four out of six : [20]

(1) Discuss strong points of various measures of central tendency.

(2) Comment ‘Regression equations are irreversible’.

(3) What are the main features of normal probability

distribution ?

(4) Give the various applications of F distribution in statistics.

(5) Discuss important measures of dispersion indicating their uses.

(6) Distinguish between large sample and small sample tests of

significance.



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4204]-208

M.A. (Part I) (Second Semester) EXAMINATION, 2012

ECONOMICS

(EC-208 : Community Development and Planning)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) Explain population and social policy in Indian context.

(2) Explain the relationship between social development and

environment.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain the concept of underdevelopment. Critically evaluate

any one theory related to underdevelopment.

(2) Critically evaluate the planning in India.

3. Answer the following questions in 250 words each (any two) : [20]

(1) Write in detail the concept of asset vulnerability framework.
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(2) Explain briefly the foundation of social theory.

(3) Explain two case-studies of development from India.

(4) Discuss in brief the relationship between overseas development

assistance and planning.

4. Write short notes on  (any four) : [20]

(1) Religious values and beliefs.

(2) Redistribution of income and economic growth

(3) Social capital

(4) Basic human needs

(5) Public sector and economic development

(6) Forward and backward linkages in development.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs eqÌslwn vkf.k usedh vlkohr-

1- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) HkkjrkP;k lanHkkZr «ksdla[;k vkf.k lkekftd /kksj.k Li"V djk-

(2) lkekftd fodkl vkf.k i;kZoj.k ;ke/kh« ijLij laca/k Li"V djk-



[4204]-208 3 P.T.O.

2- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) U;wufodkl gh ladYiuk Li"V djk- U;wufodklkP;k lanHkkZrh« dks.kR;kgh ,dk

flºkarkps VhdkRed ewY;ekiu djk-

(2) Hkkjrkrh« fu;kstukps VhdkRed ewY;ekiu djk-

3- [kk«h«iSdh dks.kR;kgh nksu izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk % [20]

(1) ek«eŸkk vfLFkjrk vkjk[kMk riðkh«ke/;s f«gk-

(2) lkekftd flºkarkpk ik;k FkksMD;kr Li"V djk-

(3) HkkjrkP;k fodklklanHkkZrh« nksu O;"Vh v/;;us Li"V djk-

(4) fodklklkBhps fonsðkh lkgk∏; vkf.k fu;kstu ;ke/kh« laca/kkph FkksMD;kr ppkZ

djk-

4- FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) /kkfeZd ewY;s vkf.k Jºk

(2) mRiUukph iqufoZHkkx.kh vkf.k vkfFkZd fodkl

(3) lkekftd HkkaMo«

(4) ew«Hkwr ekuoh xjtk

(5) lkekftd {ks= vkf.k vkfFkZd fodkl

(6) fodklkrh« iqjkuqca/ku vkf.k iðpkuqca/ku-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4204]-301

M.A. (Part II) (Third Semester) EXAMINATION, 2012

ECONOMICS

EC-301 : Macro-Economic Analysis—I

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(1) Explain with diagram two-sector three-sector and four-sector

model of the circular flow of Income.

(2) Explain the mechanistic model of bank deposit determination.

2. Answer any one of the following questions in 500 words : [20]

(1) Critically examine the Fisher’s Quantity Theory of Money.

(2) State Keynesian psychological law of consumption. Explain the

implications of psychological law of consumption.
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3. Answer the following questions in 250 words each (any two) : [20]

(1) State RBI’s approach to money supply.

(2) State and explain Social Accounting Method.

(3) Explain the concepts of short-run and long-run consumption

function.

(4) Explain the concept of Absolute Income Hypothesis.

4. Write short notes on (any four) : [20]

(1) Money multiplier

(2) Balance of Payment Accounting

(3) High powered money

(4) Accelerator principle

(5) Budget deficits and money supply

(6) L.M. curve.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) vkoð;d R;k fBdk.kh lqcd vkœR;k dk<k-
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1- [kk«h« izðukiSdh dks.kRkkgh ,dk iz'ukaps mŸkj 500 ðkCnkar f«gk % [20]

(1) mRiUukP;k pÿkdkj izokgkps nksu&{ks=h;] rhu&{ks=h;] pkj&{ks=h; izfreku vkœrhlg

Li"V djk-

(2) c°dkP;k BsofufeZrhps ;kaf=d izfreku Li"V djk-

2- [kk«h«iSdh dks.kRkkgh ,dk izðukps mŸkj 500 ðkCnkr f«gk % [20]

(1) fQðkjP;k p«u la[;keku flºkarkps fVdkRed ifj{k.k djk-

(2) dsUlpk miHkksxklaca/khpk ekulðkkfL=; fu;e lkaxk- ekulðkkfL=; fu;ekps vUo;kFkZ

Li"V djk-

3- [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkr f«gk (dks.kRksgh nksu) % [20]

(1) iSðkkP;k iqjoBÓklaca/kh fjt+oZ cWd vkWQ bafM;kpk n`f"Vdksu lkaxk-

(2) lkekftd fgðkksc iºr lkaxk o Li"V djk-

(3) vYidk«hu o nh?kZdk«hu miHkksx Q«u ;k ladYiuk Li"V djk-

(4) fujis{k mRiUu x`fgrd ifjdYiuk Li"V djk-

4- FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) iSlk xq.kd

(2) O;ogkjrks« «s[kkadu

(3) mPp ðkDrh iSlk

(4) izosx rRo

(5) vankti=dkrh« rqV o iSðkkpk iqjoBk

(6) ,«-,e- oÿ-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4204]-302

M.A. (Part II) (Third Semester) EXAMINATION, 2012

ECONOMICS

(EC-302 : Economics of Growth)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point

(iv) Draw neat diagram wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(i) Explain the term ‘Economic Growth’. Explain in detail factors

affecting economic growth.

(ii) State and explain Schumpeter’s contribution on Economic

growth.

2. Answer any one the following questions in 500 words : [20]

(i) Critically examine the R.M. Solow’s model of Growth.

(ii) Explain in detail Karl Marx’s view on process of development

of Capitalist Economy.

P.T.O.
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3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain the correlation between Intellectual Capital, Education

and Economic Growth.

(ii) Explain Harrod model of economic growth.

(iii) State and explain Adam Smith’s contribution on Economic Growth.

(iv) State and explain embodied and disembodied technical progress.

4. Write short notes in 100 words each (any four) : [20]

(i) Theory of Surplus Value

(ii) Growth model of Pasinetti

(iii) Role of credit and profit in capitalism

(iv) Structural analysis of development

(v) Theory of social change

(vi) Hicks’ model of Economic Growth.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr

(iv) vkoð;d rsFks lqcd vkœR;k dk<k-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkjs f«gk %  [20]

(i) ^vkfFkZd o`ºh* ladYiuk Li"V djk- vkfFkZd o`ºhoj ifj.kke dj.kkjs ?kVd

lfoLrj Li"V djk-

(ii) ðkaqihVj ;kaps vkfFkZd o`ºhrh« ;ksxnku lkaxk o Li"V djk-
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2. [kk«h«iSdh dks.kR;kgh ,d izðukph mŸkjs 500 ðkCnkar f«gk % [20]

(i) vkj- ,e- lks«ks ;kaP;k vkfFkZd o`ºh izfrekukps VhdkRed ifj{k.k djk-

(ii) HkkaMo«ðkkgh vFkZO;oLFksrh« fodkl izfÿ;sP;k lanHkkZr dk«Z ekDlZ ;kapk n`"Vhdks.k

lfoLrj Li"V djk-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(i) ckSºhd HkkaMo«] fðk{k.k vkf.k vkfFkZd o`ºh ;karh« lglaca/k Li"V djk-

(ii) gWjkWM ;kaps vkfFkZd o`ºh izfreku Li"V djk-

(iii) vWMe fLeFk ;kaps vkfFkZd o`ºh lanHkkZr ;ksxnku lkaxk o Li"V djk-

(iv) vaxhHkwr o u&vaxhHkwr rkaf=d izxrh lkaxk o Li"V djk-

4. izR;sdh 100 ðkCnkar FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) vkf/kD; eqY; flºkar

(ii) iWflfuVh ;kaps vkfFkZd o`ºh izfreku

(iii) HkkaMo«ðkkghr ir o uQk ;kaph Hkqfedk

(iv) fodklkps jpukRed foð«s"k.k

(v) lkekftd cn«kpk flºkar

(vi) fgDl ;kaps vkfFkZd o`ºh izfreku-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4204]-303

M.A. (Part II) (Third Semester) EXAMINATION, 2012

ECONOMICS

EC-303(A) : Research Methodology

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) What do you mean by research ? Explain importance and utility

of social science research.

(2) Explain the different methods of collection of Primary

data.

2. Answer any one of the following questions in 500 words : [20]

(1) What is Research design ? Explain the stages of Research

design.

(2) What is classification ? Explain the types of classification.

3. Answer the following questions in 250 words each (any two) :

[20]

(1) State and explain the use of Information Technology in

Research.

P.T.O.
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(2) Describe the stages in report writing.

(3) What is analysis of Data ?

(4) Explain the difficulties in social science research.

4. Write short notes in 100 word each (any four) : [20]

(1) Types of sampling.

(2) Types of questionnaire.

(3) Use of computer in data processing.

(4) Measures of Central Tendency.

(5) Importance of PowerPoint Presentation.

(6) Good characteristics of Hypothesis.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph 500 ðkCnkr mŸkjs f«gk (dks.krkgh ,d) %  [20]

(1) laðkks/kukpk vki.kkl dk; vFkZcks/k gksrks \ lkekthd ðkkL=krh« laðkks/kukps

egRo vkf.k mi;qDrrk Li"V djk-

(2) izkFkfed rF;s lad«ukP;k fofo/k iºrh Li"V djk-

2. [kk«h« izðukaph 500 ðkCnkr mŸkjs f«gk (dks.krkgh ,d) %  [20]

(1) laðkks/ku vkjk[kMk Eg.kts dk; \ laðkks/ku vkjk[kMÓkP;k ik;Ú;k (VIis) Li"V

djk-

(2) oxhZdj.k Eg.kts dk; \ oxhZdj.kkps izdkj Li"V djk-
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3. [kk«h« izðukaph izR;sdh 250 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) %  [20]

(1) laðkks/kukrh« ekfgrh ra=Kkukps mi;ksx lkaxk o Li"V djk-

(2) laðkks/ku vgok« «s[kukP;k fofo/k ik;Ú;kaps o.kZu djk-

(3) ekfgrhps foð«s"k.k Eg.kts dk; \

(4) lkekftd ðkkL= laðkks/kukrh« vMp.kh Li"V djk-

4. [kk«h« Vhik izR;sdh 100 ðkCnkr f«gk (dks.kR;kgh pkj) % [20]

(1) uequk fuoMhps izdkj

(2) izðuko«hps izdkj

(3) rF; izfÿ;kalkBh lax.kdkpk mi;ksx

(4) dsafÊ; izo`Ÿkhph ekstekids

(5) ǹdJkod lk/kuk}kjs lknjhdj.kkps (PowerPoint Presentation) egRo

(6) pkaxY;k x`fgrdkph oSfðk"VÓs



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4204]-304

M.A. (Part II) (Third Semester) EXAMINATION, 2012

ECONOMICS

EC-303(B) : Econometrics

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

(iv) Use of non-programmable calculator is allowed.

1. Answer any one of the following questions : [20]

(1) The following is the data on retail price index (X) and wholesale

price index (Y) for 10 years. Compute the correlation coefficient

and obtain the line of regression of Y on X and interpret

the coefficients. Also estimate Y for X = 60 :

X Y

89 92

86 91.5

74 84

65 75

65 73.5

63 72

66 70.5

67 75

72 77.5

79 84

P.T.O.
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(2) What is heteroscedasticity ? Explain in detail the sources of

heteroscedasticity and its methods of detection.

2. Answer any one of the following questions : [20]

(1) Obtain the reduced form equations for the following simultaneous

equations model :

1 10 12 2 11 1 1Y Y Xt t t tu= β + β + γ +

Y Y X .

(2) Explain the two methods of economic forecasting for time series

data.

3. Answer any two of the following questions : [20]

(1) Explain the concept of R2 and adjusted R2 in case of regression

models. Explain how it is used for comparison of different

models.

(2) Discuss remedial measures for multicollinearity.

(3) Explain rank and order conditions of identification.

(4) Explain the sources of autocorrelation.

4. Answer any four of the following questions : [20]

(1) Explain confidence interval approach to hypothesis testing.

(2) Explain the concept of dummy variable. State the precautions

to be taken while incorporating dummy variables in the regression

models.
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(3) Explain two stage least squares method for estimating

overidentified equation.

(4) What do you mean by integrated stochastic process ? State

its important properties.

(5) State different models of time series data.

(6) Explain the concept of multiple regression with an

example.



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4204]-305

M.A. (Part II) (Third Semester) EXAMINATION, 2012

ECONOMICS

(Optional Paper)

EC-304 : Banking and Financial Institutions

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be pricise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) Explain the structure of financial system in India.

(2) Describe the evolution of S.B.I. and assess the role and

performance of State Bank of India.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain the role and functions of R.B.I.

(2) What is Euro-currency market ? Explain the role of Euro-

currency markets in development at international level.
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3. Answer the following questions in 250 words each (any two) : [20]

(1) Explain the functions of financial sector.

(2) Explain the objectives of Monetary Policy.

(3) Describe the types of Mutual Funds.

(4) Explain the functions of IMF.

4. Write short notes on (any four) : [20]

(1) Equilibrium financial markets

(2) Banking sector reforms after 1991

(3) Types of non-banking financial institutions

(4) Functions of small savings and provident fund

(5) Types of foreign capital

(6) Functions of Asian Development Bank.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

1- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkr f«gk % [20]

(1) Hkkjrkrh« fofŸk; iºrhph jpuk Li"V djk-



[4204]-305 3 P.T.O.

(2) Hkkjrh; LVsV c°dsph mRÿkarh Li"V djk vkf.k Hkkjrh; LVsV c°dsP;k Hkqfedk

o dkefxjhps ewY;ekiu djk-

2- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkr f«gk % [20]

(1) Hkkjrh; fjtoZ c°dsph Hkqfedk o dk;sZ Li"V djk-

(2) ;qjks&p«u cktkj Eg.kts dk; \ vkarjjk"V™h; Lrjkojh« fodklkr ;qjks&p«u

cktkjkph Hkqfedk Li"V djk-

3- [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.kR;kgh nksu) % [20]

(1) fofŸk; {ks=kph dk;sZ Li"V djk-

(2) p«ufo"k;d /kksj.kkph mfÌ"Vs Li"V djk-

(3) ijLijfu/khps (Mutual Funds) izdkj lkaxk-

(4) vkarjjk"V™h; uk.ksfu/khph dk;sZ Li"V djk-

4- FkksMD;kr Vhik f«gk (dks.kR;kgh pkj)% [20]

(1) fofŸk; cktkjkpk lerks«

(2) 1991 uarjP;k c°dhax {ks=krh« lq/kkj.kk

(3) fcxj c°dhax fofŸk; laLFkkaps izdkj

(4) vYicpr vkf.k Hkfo";&fuokZg fu/khph dk;sZ

(5) fonsðkh HkkaMo«kps izdkj

(6) vkfðk;kbZ fodkl c°dsph dk;sZ-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4204]-306

M.A. (Part II) (Third Semester) EXAMINATION, 2012

ECONOMICS

(EC-305 : Welfare Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) What is consumer’s surplus ? Explain fully Marshallian

measurement of consumer surplus.

(2) Point out in detail the divergence between private and social

cost.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain Benthamine approach to aggregate welfare.

(2) Critically examine Pigou’s welfare criterion.

3. Answer any two of the following questions in 250 words each : [20]

(1) Explain in detail Samuelson’s utility possibility curve.
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(2) Explain Kaldor and Hicks contribution in Welfare Economics.

(3) Explain the externalities of production and consumption.

(4) Explain Arrow’s impossibility theorem.

4. Write short notes on (any four) : [20]

(1) Welfare maximisation

(2) Marginal cost pricing

(3) Value judgement

(4) Problems of public goods

(5) Issues in Income distribution

(6) Concept of community indifference map.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-

1- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) miHkksDR;kps larks"kkf/kD; Eg.kts dk; \ miHkksDR;kP;k larks"kkf/kD;kps ekðkZ« ;kaps

eksteki lfoLrj Li"V djk-

(2) [kktxh [kpZ o lkekftd [kpZ ;krh« Qjd Li"V djk-
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2- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) csUFkWfeupk lexz dY;k.kkpk n`f"Vdksu Li"V djk-

(2) fixwP;k dY;k.kkP;k fud"kkps fVdkRed ijh{k.k djk-

3- [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk % [20]

(1) lWE;qv«lupk mi;ksfxrk ðkD;rk oÿ lfoLrj Li"V djk-

(2) dY;k.kdkjh vFkZðkkL=krh« dWYMkWj o fgDl ;kaps ;ksxnku foðkn djk-

(3) mRiknu o miHkksx ;kaph ckgÓ cktw Li"V djk-

(4) vWjkspk vðkD;rk flºkar Li"V djk-

4- dks.kR;kgh pkjoj FkksMD;kr fVik f«gk % [20]

(1) dY;k.kkps egŸkehdj.k

(2) lhekar [kpZ fdaer fufðprh

(3) ewY; vankt

(4) lkoZtfud oLrwP;k leL;k

(5) mRiUu foHkktukrh« leL;k

(6) lkekftd leo`Ÿkh udkðkkph ladYiuk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4204]-307

M.A. (Part II) (Third Semester) EXAMINATION, 2012

ECONOMICS

EC-306 : Economics of Finance

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) Define securities. Explain the general characteristics of securities.

(2) Explain in detail the forms of efficient market hypothesis.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain in detail the functions and working of SEBI.

(2) What is Derivative Market ? Explain the types of derivative

market.

3. Answer the following questions in 250 words each (any two) : [20]

(1) Explain the components and working of the stock market.
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(2) Discuss the Arbitrage Pricing Theory.

(3) Explain the basic theory of interest.

(4) Explain the types of swaps.

4. Write short notes on (any four) : [20]

(1) Speculators

(2) Types of cash flow

(3) Net present value

(4) Asset return

(5) Stock options

(6) Corporate securities.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

1- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) izfrHkqrhph O;k[;k |k- izfrHkqrhaph loZlk/kkj.k oSfðk"Vs Li"V djk-

(2) dk;Z{ke cktkj x`fgrdkaps izdkj lfoLrj Li"V djk-
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2- [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar f«gk % [20]

(1) lsch (SEBI) ph dk;sZ o dkefxjh lfoLrj Li"V djk-

(2) vuqtkr cktkj Eg.kts dk; \ vuqtkr cktkjkaps izdkj Li"V djk-

3- [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk % [20]

(1) ðksvj cktkjkrh« ?kVd vkf.k dkefxjh Li"V djk-

(2) eqY;karj i.ku flºkarkph ppkZ djk-

(3) O;ktnjkpk eq«Hkqr flºkar Li"V djk-

(4) vn«k&cn«kaps (swaps) ps izdkj Li"V djk-

4- [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk % [20]

(1) lÍsckt

(2) jks[ks izokgkps izdkj

(3) fuOoˇ orZeku eqY;

(4) ek«eŸkk ijrkok

(5) jks[ks fodYi

(6) daiuh izfrHkqrh-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4204]-308

M.A. (Part II) (Third Semester) EXAMINATION, 2012

ECONOMICS

EC-307 : Economics of Environment

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(i) Explain in detail the effects of climate change on global

economy.

(ii) What is environment ? Explain the effects of environment on

human lives.

2. Answer any one of the following questions in 500 words : [20]

(i) Explain the theories of optimal use of exhaustible and renewable

resources.

(ii) Explain the role of environmental education in protecting the

environment.
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3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain the mechanism for Environment Regulation in India.

(ii) Explain the instruments for controlling water pollution in

India.

(iii) Explain the different types of environment.

(iv) Explain the new model of pollution control.

4. Write short notes on (any four) : [20]

(i) Environmental values

(ii) Sustainable development

(iii) Air pollution

(iv) Human capital

(v) Use values

(vi) Social Forestry.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vfuok;Z vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkr f«gk % [20]

(i) tkxfrd vFkZO;oLFksojh« okrkoj.kkrh« cn«kps ifj.kke lfoLrj Li"V djk-

(ii) i;kZoj.k Eg.kts dk; \ ekuoh thoukojh« i;kZoj.kkps ifj.kke Li"V djk-
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2- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkr f«gk % [20]

(i) ukðkiko.kkjh lalk/kus vkf.k iqu#fTtou lalk/kus ;kapk oktoh mi;ksx dj.;klanHkkZrh«

flºkUr Li"V djk-

(ii) i;kZoj.kkps laj{k.k dj.;kckcr i;kZoj.k fðk{k.kkph Hkwfedk Li"V djk-

3- [kk«h« izðukaph izR;sdh 250 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [20]

(i) Hkkjrkrh« i;kZoj.k fu;a=.kkph ;a=.kk Li"V djk-

(ii) Hkkjrkr t«iznq"k.k fu;a=.kklkBhph lk/kus Li"V djk-

(iii) i;kZoj.kkps fofo/k izdkj Li"V djk-

(iv) i;kZoj.k fu;a=.kkps uohu izfreku Li"V djk-

4- FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(i) i;kZoj.k ewY;s

(ii) ðkkðor fodkl

(iii) gok iznq"k.k

(iv) ekuoh HkkaMo«

(v) mi;ksx ewY;s

(vi) lkekftd ouhdj.k-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4204]-401

M.A. (Part II) (Fourth Semester) EXAMINATION, 2012

ECONOMICS

EC-401 : Macro-Economic Analysis—II

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions (in 500 words) : [20]

(1) Explain the classical and neoclassical approach of Macro

economics.

(2) Explain the IS-LM model with government sector.

2. Answer any one of the following questions (in 500 words) : [20]

(1) Explain in detail Philips curve analysis.

(2) Explain Schumpeter’s theory of Business Cycle.

3. Answer the following questions (in 250 words each) (any two) : [20]

(1) Explain the post-Keynesian view of Macro-economics.
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(2) Explain relative effectiveness of Monetary Policy.

(3) Explain Friedman’s modern quantity theory.

(4) Explain the real balance effect.

4. Write short notes on (any four) : [20]

(1) Keynesian view on interest.

(2) Revival of monetarism

(3) Natural rate of unemployment hypothesis

(4) Classical approach to inflation

(5) Goodwin’s model

(6) Fiscal policy.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs eqÌslqn o usedh vlkohr-

1- [kk«h«iSdh dks.kR;kgh ,dk izðukph 500 ðkCnkar mŸkj f«gk % [20]

(1) lexz vFkZðkkL=kP;k lanHkk Zr lukru o uolukru iaFkh;kapk n`"Vhdks.k

Li"V djk-

(2) ðkkldh; {ks=k lanHkkZr vk;-,l-&,«-,e- izfreku Li"V djk-

2- [kk«h«iSdh dks.kR;kgh ,dk izðukph 500 ðkCnkar mŸkj f«gk % [20]

(1) fQf«Il oÿkps foð«s"k.k lfoLrj Li"V djk-

(2) ðkqafiVj ;kaP;k O;kikj pÿkpk flºkar Li"V djk-
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3- [kk«h«iSdh dks.kR;kgh nksu izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk % [20]

(1) lexz vFkZðkkL=kP;k lanHkkZr dsUluarjpk n`"Vhdks.k Li"V djk-

(2) p«ufo"k;d /kksj.kkph lkis{k ifj.kkedrk Li"V djk-

(3) f›Meu ;kapk vk/kqfud p«ula[;keku flºkar Li"V djk-

(4) okLro&fðkY«d ifj.kke Li"V djk-

4- FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) O;ktnjkpk dsUl ;kapk n`"Vhdks.k

(2) p«uoknkps iqu#Tthou

(3) csdkjhP;k uSlfxZdnjkps x`fgrd

(4) p«uok<hP;k lanHkkZr lukru n`"Vhdks.k

(5) xqMfou izfreku

(6) jkT;dksf"k; /kksj.k-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4204]-402

M.A. (Part II) (Fourth Semester) EXAMINATION, 2012

ECONOMICS

(EC-402 : Economics of Development)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) What is monetary policy ? Explain the role of Monetary Policy

in Economic Development.

(2) Explain the role of New Technology for sustainable agriculture.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain in detail the terms of trade between agriculture and

industry.

(2) Explain in detail the features of underdeveloped

countries.

P.T.O.
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3. Answer the following questions in 250 words each (any two) : [20]

(1) Explain the Myrdal theory of International Trade.

(2) Explain the Prebish-Singer theory of free trade.

(3) Explain the theory of demographic transition.

(4) Explain the critical minimum effort theory.

4. Write short notes in 100 words each (any four) : [20]

(1) Structural view of development

(2) Population as limits to growth

(3) Burden of Borrowing

(4) Human Resource Development

(5) The choice of techniques

(6) Dual gap analysis.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

1. [kk«h«iSdh dks.krkgh ,dk izðukps mŸkj 500 ðkCnkar f«gk %  [20]

(1) p«ufo"k;d /kksj.k Eg.kts dk; \ vkfFkZd fodklkr p«ufo"k;d /kksj.kkph

Hkwfedk Li"V djk-

(2) ðkkðor ðksrhlkBh uohu ra=Kkukph Hkwfedk Li"V djk-

2. [kk«h«iSdh dks.krkgh ,dk izðukps mŸkj 500 ðkCnkar f«gk %  [20]

(1) œ"kh vkf.k m|ksx ;kaP;ke/kh« O;kikjkP;k ðkrhZ lfoLrj Li"V djk-

(2) vYifodlhr nsðkkph «{k.ks lfoLrj Li"V djk-
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3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh nksu) %  [20]

(1) feMkZ« ;kapk vkarjjk"V™h; O;kikjkpk flºkar Li"V djk-

(2) izsfcðk&flaxjpk eqDr O;kikjkpk flºkar Li"V djk-

(3) «ksdla[;k laÿe.kkpk flºkar Li"V djk-

(4) fdeku fu.kkZ;d iz;Ru flºkUr Li"V djk-

4. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) fodklkpk lajpukRed n`f"Vdksu

(2) «ksdla[;kµvkfFkZd ok<hph e;kZnk

(3) dtkZpk Hkkj

(4) ekuoh lk/kulaiŸkhpk fodkl

(5) fuoMhps ra=Kku

(6) nqgsjh Qjd foð«s"k.k-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4204]-403

M.A. (Part II) (Fourth Semester) EXAMINATION, 2012

ECONOMICS

(EC-403 : International Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(1) Critically examine the Heckscher-Ohlin theory of International

Trade.

(2) Explain the merits and demerits of flexible Exchange Rate.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain the causes of disequilibrium in the Balance of Payments.

Suggest the remedies to correct the disequilibrium in the Balance

of Payment.

(2) Explain in detail India’s export-import policies since 2000.
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3. Answer the following questions in 250 words each (any two) : [20]

(1) Explain the factors affecting Terms of Trade.

(2) Explain the direct methods of exchange control.

(3) Explain the functions of IMF.

(4) Explain the role of Multinational Corporations in economic

development.

4. Write short notes (any four) : [20]

(1) Leontief paradox

(2) Non-tariff barriers

(3) Components of Balance of Payments

(4) Intra-industry trade

(5) Types of Foreign Investment

(6) Instruments of export promotion.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) vkoð;d R;k Bhdk.kh lqcd vkœrh dk<k-

1- [kk«h«iSdh dks.krsgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) gsDpj&vksg«hu vkarjjk"V™h;s O;kikj flºkarkps fVdkRed ifj{k.k djk-

(2) cnYR;k fofue; njkps xq.k&nks"k Li"V djk-
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2- [kk«h«iSdh dks.krsgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) vkarjjk"V™h; O;ogkjrks«krh« vlerks«kph dkj.ks lkaxwu rks nq#Lr dj.;kP;k

mik;;kstuk lwpok-

(2) lu~ 2000 iklwups Hkkjrkps vk;kr&fu;kZr fo"k;d /kksj.k lfoLrj Li"V

djk-

3- [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkj f«gk (dks.krsgh nksu) % [20]

(1) O;kikjðkrhZph ladYiuk Li"V djk-

(2) izR;{k fofue; fu;a=.kkP;k iºrh Li"V djk-

(3) vkarjjk"V™h; uk.ks fuf/kph dk;sZ Li"V djk-

(4) vkfFkZd fodklkrh« cgqjk"V™h; daiU;kaph Hkwfedk Li"V djk-

4- FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) fyvkWufVQpk fojks/kkHkkl

(2) tdkrsrj vMFkˇs

(3) vkarjjk"V™h; O;ogkjrksˇkps ?kVd

(4) vkarj&m|ksx O;kikj

(5) ijdh; xqaro.kwdhps izdkj

(6) fu;kZr izksRlkgukph lk/kus-
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Seat

No. [4204]-404

M.A. (Part II) (Fourth Semester) EXAMINATION, 2012

ECONOMICS

(EC-405 : History of Modern Economic Analysis)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(1) Critically explain the Portfolio Theory of James Tobin.

(2) Explain critically the General Theory of Equilibrium by Kenneth

Arrow.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain Amartya Sen’s thought on Welfare Economics. How

are they different from Pareto’s Welfare Economics ?

(2) State the view of Samuelson on :

(a) Mathematical Economics

(b) International Trade Thoery.
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3. Answer the following questions in 250 words each (any two) : [20]

(1) Explain Mede’s approach to general equilibrium of production

and consumption.

(2) Explain the assumptions of Ohlin’s Theory of International

Trade.

(3) State the contribution by Gunnar Myrdal in Developmental

Economics.

(4) Why the Friedman’s Quantity Theory of Money has been called

as ‘old wine in new bottle’ ?

4. Write short notes on  (any four) : [20]

(1) Arrow’s Impossibility Theorem

(2) Hick’s IS-LM model

(3) Friedman’s Monetarism

(4) Export Obsolescence

(5) Permanent Income Theory

(6) Revealed Preference.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vfuok;Z vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs eqÌslwn vkf.k usedh vlkohr-

(iv) vkoð;d R;k fBdk.kh lqcd vkœrh dk<k-

(v) ewˇ lanHkkZlkBh baxzth izðuif=dk igkoh-
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1- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) tsEl VkWfcu ;kaP;k jks[kklaxzg.k flºkarkps fVdkRed Li"Vhdj.k |k-

(2) dsusFk vWjks ;kaP;k loZlk/kkj.k larq«u flºkarkps fVdkRed ijh{k.k djk-

2- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) veR;Z lsu ;kaps dY;k.kdkjh vFkZðkkL=kps fopkj Li"V djk- isjsVks ;kaP;k dY;k.kdkjh

vFkZðkkL=kis{kk rs dls fHkUu vkgs \

(2) lWE;qvYlu ;kaps [kk«hy fo"k;kojh« fopkj Li"V djk %

(v) xf.krh vFkZðkkL=

(c) vkarjjk"V™h; O;kikj flºkar-

3- [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk % [20]

(1) mRiknu vkf.k miHkksx ;kckcrP;k loZlk/kkj.k lerks« ckcrpk esMs ;kapk n`"Vhdksu

Li"V djk-

(2) vksgf«u ;kaP;k vkarjjk"V™h; O;kikjkP;k flºkarkph x`ghrs Li"V djk-

(3) fodklkP;k vFkZðkkL=krh« xqUukj feMkZ« ;kaps ;ksxnku lkaxk-

(4) f›Meu ;kaP;k pyula[;keku flºkrka«k flufou ckV«he/;s tquh nk:fi vls

dk EgVys tkrs \
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4- FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) vWjks ;kaps vðkD;rk izes;

(2) fgDl ;kaps IS-LM izfreku

(3) f›Meu ;kapk eqÊkokn

(4) fu;kZr «qIrrk

(5) LFkk;h mRiUu flºkar

(6) vfHkO;Drh ilarh-
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